RLC

RLC

v LC

(0 L-1/w C)2=R2

Im=Vm/R

I/Im=1/V 2

W
w1l -R/2L+V (R/2L)2+1/LC
w2 R/2L+/ (R/2L)2+1/LC

w 2-w 1=R/L
W2w1l=w*w
W

Q=w/(w2-w 1)=w L/R

w 0=1/

I=Im/V 2

w2-wl



FG-330(0.01MHz...1MHz) /SN:40191207

56pF
22Q
SS-7602( -20MHz) /SN:52578233
R1 Q | EI EC

R1 30Q I



F(KHz) V
10
20
30
40
4
42
43
44
45
50
60
70
80
9

100

Vi

Ve

0.95
0.9
0.65
0.15
0.1
0.075
0.05
0.1
0.125
0.35
0.65
0.72
0.77
0.81

0.85

RLC

El

Ec

1 0.004104 0.066243 1.167078

117

13

131

1.28

1.26

1.23

121

117

0.7

0.5

0.35

0.25

0.2

0.009217

0.0143

0.017861

0.018106

0.018332

0.018539

0.018729

0.018901

0.019535

0.019991

0.01989

0.019585

0.019229

0.018882

0.29753

0.692386

1.153056

1198114

1.242657

1.286636

1.330011

1.372753

1576417

1.935883

2.24709

2.528736

2.793162

3.047498

1.31048

1.355393

1.269668

1.255712

1.241115

1.225966

1.210346

1.194337

1.11094

0.947406

0.807949

0.696118

0.607534

0.536912

W El

62800
125600
188400
251200
257480
263760
270040
276320
282600
314000
376800
439600
502400
565200

628000

257u H

0.05

0.27

0.65

116

118

1.185

1.28

131

1.295

135

135

122

112

1.06

1.05

Er

0.31225

0.43589

0.759934

0.988686

0.994987

0.997184

0.998749

0.994987

0.992157

0.93675

0.759934

0.693974

0.638044

0.58643

0.526783

0.006245

0.008718

0.015199

0.019774

0.0199

0.019944

0.019975

0.0199

0.019843

0.018735

0.015199

0.013879

0.012761

0.011729

0.010536






